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7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
s 1.00 | 0.00 ~ 475 59.20 | #nRS | 000 ~ 4.75| 1.78 9.563 Thlst 1.00 | 5.00 ~ 56.00 59.20 | =ns | 5.00 ~ 6.00| 1.78 9.563
2 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 693 87.76 | FnLS | 000 ~ 693 | 2.58 13.82 Thst 1.00 | 6.00 ~ 1077 87.76 | =ns | 5.00 ~ 1077] 2.58 13.82
3 100kN/m%E#8z5| 1.00 | 000 ~ 008| 10118 |3m&E#BzZB| — ~ — — — | 100kN/m%#825% | 1.00 | 11.94 ~ 1217| 10118 |3m%E#BZ3 - ~ — — —
st 1.00 | 008 ~ 7.87 100.00 | #nst | 000 ~ 7.87| 2.47 13.21 st 1.00 | 6.00 ~ 11.94 100.00 | =hSt | 6.00 ~ 1217|247 13.21
4 100kN/m%E#Z5| 100|000 ~ 018 10258 |3m&E#ZB| — ~ — — — | 100kN/m#%#825% | .00 | 1056 ~ 11.02| 102.58 |3m%EHBZ% - ~ — — —
ZhLst 1.00 | 018 ~ 796 100.00 | #hst | 000 ~ 796|223 11.92 st 1.00 | 6.00 ~ 1056 100.00 | #nst | 6.00 ~ 11.02] 2.23 11.92
5 100kN/m%z#8z5| 1.00 | 000 ~ 1.17| 117.60 |3m&E#BzZB| — ~ — — — | 100kN/m%#825% | .00 | 1056 ~ 1432 117.60 |3mEBZ3 -~ — — —
s 1.00 | 1.17 ~ 895 100.00 | Fnst | 000 ~ 895|215 11.49 Thst 1.00 | 6.00 ~ 1056 100.00 | =nLS | 6.00 ~ 1432|215 11.49
p 100kN/m%E#8z5| 1.00 | 000 ~ 126 119.03 |3m&EBzZB| — ~ — — — | 100kN/miZ#825 | 1.00 | 1079 ~ 1530 119.03 |3m%EEEZ5 - ~ — — —
s 1.00 | 1.26 ~ 9.04 100.00 | =nlst | 0.00 ~ 9.04 | 2.26 12.10 Thst 1.00 | 6.00 ~ 10.79 100.00 | =nLSY | 6.00 ~ 1530)| 2.26 12,10
7 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
FhList 1.00 | 000 ~ 7.34 93.66 | =ns | 0oo ~ 7354| 1.97 10.564 Fhst 1.00 | 6.00 ~ 1047 93.56 | =ns | 5,00 ~ 1047| 1.97 10.64
P 100kN/mMZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 7.30 93.07 | =nLs | 000 ~ 0.00| 1.66 8.90 Thist 1.00 | 6.00 ~ 9.68 93.07 | =S | 5,00 ~ 9.68| 1.66 8.90
9 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
FhLst 1.00 | 0.00 ~ 4.52 56.40 | =nst | 0.oo ~ 000\ 1.567 8.38 ZhLst 1.00 | 6.00 ~ 56.00 56.40 | =hs | 5,00 ~ 6.00 | 1.567 838
100kN/ M%#2Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ ZznLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




